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Unit 5.2: Graphing Rational Functions

You can get a reasonable graph for a rational function by finding all intercepts and

asymptotes. Sometimes you will also have to plot a few extra points to get a good sense of
the shape of the graph.
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iv. Find a few more poi

I

(onrect Doints based
on ewmy of
a,sYMP'b-R-S

Basically ds exerything
f,?u‘\- W oon e Smph.




T T T ———— i A~ -

%‘ Ophs cantot cross yertical asymplotes since +he
‘\‘V NoWes are Mot port of the dorain

7 3 A hocizents) asYM tole. represents the valve the fonehion

approaches as M really bia/seall(ends of qraph). This means you
?—) Sketch the graph of each rational fu!wctlc‘)a/s ( ﬁmf \ o ph -H(l;\-
, r\wﬂh\ & »{PMPQ-D%

= E - ‘_éq - -ﬂ
a) y x3 x!'. xt \'\A' w MY’ Y 0
SURN——. x; %0 Holes We woold haae o hele ot x= 0, but thue is
ql-——+-1- NA drare, hich iy port ?mmmu\‘\'

VA% x=0
x-iak! Y-H No x-ink since no % in Ausesater

i
!
y

y-in¥t y= = 4 DNE, ro y-ink
Othectx=l  y= gmig=l (2,) x2=l yromard=H
Bl 7_1-:.\*‘%-' -2, (-1, 1)
el o SR LI UL
x+3  _ XX D

x2—6x+5 ( 'SW"\ . _

e 1.;6”' D) RA. Botom \'\QL\IY' Y'O

Foles: ‘\\OM_, M-\'\ins concels

\IA.. 7\'55, X =\

X-in¥% O=x¥d This funchion w\\\ cross +\~L HA,
-3=x (_5 O\ but that ivs ok (%hp Po.,p\

b) I =

~int, ya Or3 3 3
J AT s (%) 33 _ 6 L&
Other! 4226 ye -6+ S S § %23 Y5006 () -9
-6 7 o1V fa - +3 L |
(6,55 ) BEEDTENENT T o L (mv (e o

HA. Top heavy, none
Roles. x=-1 Plog indo scMP\er functien
y=% = y=-l (-1,71)

VA ¢ None, all concelled

*-ints O=x (0,0) Plog nto s'ua?\iﬁd
Y-m\" y= =0 (0,0 ?\.;5 ndo 5‘|MP\¥C\'¢J.
Ofhect x=2  y=2  (2,2)

I I A B




